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—(1 — a?) = —(x? =3y +2)= —(=31>+6) =

—(a + 2¢) = —(x=3u+2)= —(3d - q) =
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-3 +y)= s heavn . —(=7c - e) =

Zjednoduste vyrazy.
a)

3x + 2y + Tx = = 6p + 10g — S5p — g =

Sr+4s —r + 2s = ax + 2ay + 8ax — 2ay =

2m +9n — 3n — m = * 4a + 2b — 5a — ¢ =

7a + 3b — 7a + 3b = S5xy + 2x — 3xy — 3y =

3x—4+4+5x+9 = ab + 9 — 4ab — 12 =
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Zjednoduste vyrazy.
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Ix—=54+4x+9 = 2a — b — 3a + 4b =

O—v—=5~—=3v = 8—m—14 — 4m =

R
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—6k —7 =3k + 5= ~y=Kk+3k+y=

15

—4u + 2 — 8u — 8 = —b + 11 — 4b + 20 =
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m Zjednoduste vyrazy.

a) 2+4a*—3a’—1+4+3a+a’*—2a=
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b) —5t+ 11 — 12+ 4t — 8 + 31* =

C) 32 —8z+2°— 272 —42°+ 322 + 5z =

d 4x’ - 2x’ 4+ x? = 5x° = x2 4+ 4x* = 2 =

€) 2ab — 3b + 4ab — 2b* + 5b + 3b% 4+ g =

ZjednodusSte vyrazy.

a) Sab — 4a’b*8ab* + 3ab — ab?* — 4a*b? =

~ b) 23x’yz + 10xyz2 — 15x2yz — xyz2 + 2x2y7 + xyz? =

C) =2mn + 3mn? — 2m 4 5mn — 3mn? + 3m =

d) uv? — 4u’y + Su’ — 2uv’ + 2u’v — Tu? =

Zjednoduste vyrazy.

a) (—6x)+ 2x + (—3x) + (+10x) =

b) (+a)+ (=7a) + (—4a) + (+3a) =

¢) (—4a’b) + (—=2ab) + (—a’b) + 9ab =

d) (+xy) + (=5xy) + (=3xy) + (9xy) =

e) (—a?) —(2a) + (+3a?) — (—4q) =




